~

e e e e e e e e e e e e e e e e e e e e e e e e e e

Addition

S e e e e e e e e e e e e e e e e e e e e e e e e e e e e e = = = -

-

-~




-

~

Skill: Add 1 and 2-digit numbers to 20 Year: 1/2
a When adding one-
1k5 digit numbers that
‘ 8 7 cross 10, it is

8+7=15]

important to highlight
the importance of ten
ones equalling one
ten. In Year 1, this is
only done just by
counting on. From
Year 2, use different
manipulatives can be
used to represent this
exchange alongside
number lines to
support children in
understanding how to
partition their jumps.

_/




-‘_

Skill: Add three 1-digit numbers Year: 2

When adding three 1-
digit numbers,

@ children should be
ﬂ » E encouraged to look

for number bonds to

— i d d 10 or doubles to add
e the numbers more

efficiently.

[ 7+6+3= 16} This supports
children in their
B understanding of
o000 [00eee commutativity.
El: I ﬂgﬁ;. 7+6+3=16
80000 80000 \ / _ 16 Manipulatives that
gg|_o 10 highlight number
bonds to 10 are
B effective when adding

K three 1-digit numbers. /




Skill: Add 1-digit and 2-digit numbers to 100

Year: 2/3
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When adding single
digits to a two-digit
number, children
should be
encouraged to count
on from the larger
number.

They should also
apply their knowledge
of number bonds to
add more efficiently
eg. 8+ 5=13s038
+ 5 = 43.

Hundred squares and
straws can support
children to find the

number bond to 10. /




Children can use a
blank number line
and other
representations to
count on to find the
total. Encourage them
to jump to multiples
of 10 to become
more efficient.
38 23 [ 38 + 23 =61 ] From Year 3,
encourage children to
use the formal
column method when

= . .‘:n:s : 38 Tens Ones calculating alongside
I l l l“ ‘ ; + 23 000 000 straws, base 10 or
I I U. ? 0000 place value counters.
2t ng As numbers become
K'/ 1 OO0 Z/ larger, straws become
I O less efficient.






